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9T -1/ PART — |
I fer 9 fEnare / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafaa gt & SR 39 & e @9d SR faswed ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

e @9 9 dfd s & oo e
e 1 {378 IugeRt =il 7

1) eFveie farem

2) faferse o

3) HHEA farEm

4) e frem

frfofag & @ #9-a1 Fo Req

& T-gEe fgem Rea @

%Fvl’ﬁﬁ fNEer & HEg ¥ gal
?

1) SE-UEaM T §NICTh HAl-9HIeTh
75 &

2) ITR-TEaM Th FOTHD Hol-SHITD
7&q ol

3) IE-Yea TF dqeed Hel-HMIT
RES

4) E-YEAN Hls FA-GHITE TBY
& & B

TH oM s § efaiad d 9

He-H v 7&f 3E e ?

1) SEr f&as

2) offq forstEr

3) U= FHOA

4) T fdER

frefofeg & @ @a9-d@ faQwar

TR & IFhd WX D

U9 78 ST € °

1) HEMSTE &9 8 Wi Faer

2) TiEd ArITE R T

3) WIS IR @l e

4) HEISH YAiEl & faeme

[ Level-3 /1306 ]

1.

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education

2) Special education

3) Inclusive education

4) Religious education

Which of the following statement is

correct regarding adolescence,

under Erikson's Psycho-social

development theory ?

1) Ego-identity is a
psycho-social aspect.

positive

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

Which of the following characteristics
does not have a positive effect on the
process of socialization ?
1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude
4) Development of social
prejudices

P.T.O.



[4/A]

5. AFNCEhl H  THIY  famE &

el &y ® ¢

1) gwwﬁawﬁwmw

2) ST Wad @9 9 | Tl BX
el B

3) = fhdl S @i & Meew #
T HT G B

4) =1 Rl S @l & Meew #
ff 1 & B gHT B

6. R Hi fwerdl onfa Syl e
& T Ul B, A IHH BRI A
gmﬁ»‘awwqﬁmmw

?
1) TEAES 2) [
3) SWERIEE  4) ITHD

7. “OHEIY %99 AR @ de 8
diftg &l 8, sfew o ored el oft
e @ SfewpR F & o B

fen 4 TS @ g8 ofd fhus
R e fF T B 7
1) THo %o Tho 2005
2) THo Hlo éo 3o do

3) I
4) g%
8. gha wd b # i WR & Rady
A g ?
(@) X & MR § qRacd
(b) SR & U # qReA
(c) YU Tl &l faeiia
(d) o faQarett ®1 AR
F&l FT B AT BT :

7 :

1) (@, ®) T (c)

2) (a), (b) T (9)

3) (@), (c) W (d)

4) (), (b), (c) @ (d)
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8.

Vygotsky's 'Zone of Proximal

Development' refers to :

1) What the child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable

person
4) What the child can't do even
under guidance of

knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the
reason ?

1) Formative
3) Remedial

2) Diagnostic
4) Summative

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT
3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (), (o) & (d)

3) (@, () & (d)

4) (@, ®), (©) & (9



9. g & § dF-91 Fo9 AREROT

& ST WX THRIES J9d W 787

&l ?

1) STRERET §EH & FEer &l &l
HA ©

2) RERET HE" % FEER @
ffYaa fRem ye™ # ?

3) JARERem e & Faer H
RIEDRIRSIGI

4) JPPRET HEW % F@ER @
EREIGEACE IR

10. Hga & Ak OHE @ &

ST Afdhdl H STaeett & 3@

&R 9 gAfd i

At @ ot Afcrear
H &R

(a) T8 Fagieasd dag I

@ ® (¢ 9
I 1

2) I oI II I
3) I I I II
4) 1II I I II

11. 39 JARHhal e B A i
5B 1 IR & AU AW B G
ST &, O 39 &8 © ¢
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[5/A]

9. Which of the following statements
does not explain the positive
impact of motivation on learning ?
1) Motivation impairs learning
behaviour

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning
behaviour

4) Motivation makes learning
behaviour selective

10. Match the stages of morality with

their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and II
exchange

(c) Social contracts and 111
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ @®) (o) (@
h I o m I
2) o m Im I
3 o m I 1
4) II I IIT III

11. When the learner learns a task

automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

P.T.O.
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12.

13.

14.

frefafag & @ a9-@1 &9 SIS
IR & Gey § wE J& ' ?

1) 3 gifs 8 ¥
2) 3 TG B &
3) I Hfad WX & oL oTasa® 2 &

4) 3 KT & TERAT q HEEG ol
S

Frefafed & & @9-@ wemd &
AR A eI Hl AR & ?

(a) foied

(b) Aif®

(c) FEE®

(d) TR

7&] T H AT BT :
1) (@), () W (d)

2) (a), (b) W (c)

3) (a), (c) T (d)

4) (a), (b), (c) T (d)

Freifafaa & @ @9-a1 $99 &
qEl & ded 7 we 78 8 7

1) Todeisl & 99 TN IO Th
feyares gdieror B

2) 9ifsd U0 dafede STl
HHieH a1 TR & & Fhd ol

3) ST A MwEE gdeer Tel
H G|

4) giEs gl H gRE & A
fet wd ol BT & R
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12.

13.

14.

Which of the following statement is
not true regarding biological
motives ?

1) They are universal
2) They are inborn
3) They are essential to survival

4) They are not related with
homeostatis in the individual

Which of the following
examinations are the basis of
continuous and comprehensive
evaluation ?

(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (), (c) & (d)

Which of the following statement is
not correct in reference to
intelligence tests ?

1) Alexander's Pass along test is a
performance test.

2) Verbal test can be either
individual or group.

3) Illiterate people cannot do
performance test.

4) In non-verbal tests intelligence
is measured through pictures
and figures.



15.

16.

11.

18.

i & @ SiF-a1 g9 Fwe &
Promar gfs Rrgid & o=rmia gf &
aﬁ?mw%ﬁaﬁaﬁ
7 87

& 3 o« ™
1) 8 ERE
2) s gfchar
3) HeHih IERI
4) dey EEREES

frafofag & @ d9-@ S BFwd
;ﬁmg&ﬁwaﬁw%@waﬁ
?

1) URF HEN & oEex

2) UHd [T 7R

3) ¥ Yok
4) g e i

g & IFIAR, TeOTHe HER
HIF-8l AT TR 787 § 7

1) TGS TiEhan
2) RS UFhad
3) IROTHE SERATT
4) GAES R

UGN & gHS AT S &
HIER, 59 5 A qaU & FaER
B IGHT 3R AR q&l FaeR g
QA B, O 39 FM Fed B °

1) STt
2) SIH-U&T

3) WISk
4) TEA e
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15.

16.

11.

18.

[7/A]

Which of the following pair is not
correct regarding elements of
intelligence and their dimension,
under the Three Dimensional
Intelligence theory of Guilford ?

Elements of Dimension
Intelligence

1) Unit Product

2) Cognition Operation
3) Evaluation Operation
4) Relations Content

Which one of the following is not a
key feature of child centred
learning approach ?

1) Meaningful
opportunities

learning

2) Single learning pathway
3) Continuous assessment

4) Accessible learning settings

According to Bandura, which is not
the interrelated processes of
observational learning ?

1) Attentional Processes

2) Retentional Processes

3) Motivational Processes
4) Conjunctional Processes

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

P.T.O.



[8/A]

19.

20.

21.

22.

[ Level-

T & BoA Eld & oW
qehid ¥ PN-@  SU-UeH
afwfad 78 © ?

1) Hel 9h

2) WARTEHS 96

3) eI g

4) HF HUEW (37H) qTH

T AR FErEa W S
HIAT B ARFE HI TAAT Bl 2 ¢
1) eagear 2) feenfter
3) fewmifraar  4) feafHReEn

BEE & AARe [Oee asid @l

urEl ofaeenet & @@ W B T

FifoTT

1) gEEen — i ggEEeEr -
AR - EEeEr -
SEEIT-2CI)|

2) TEEEl — FEEdEe — [T
TR —  SMArEdEer —

BREIEL]

3) gEEEl — TEERT — AT
TONER - SEEEe] —
SEEIEI L]

4) AT - EEE
qEEe — SEAEgEE — T
e

YoqE & el oFEed oM
%@H%ﬂg&ﬂ@ﬂﬁzﬁ@wﬁﬂ
SEITH b TERJNHT H DHI-A1 I

7 HIEw B Gt THiad S ?

1) YHBITD 2) focfsa
3) Gad 4) T
3/1306 ]

19.

20.

21.

22.

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

According to Pavlov's Classical
Conditioning theory of learning,
which temporal sequence
presentation of natural and
conditioned stimuli will most affect
learning ?

1) Simultaneous 2) Delay

3) Trace 4) Backward



23.

24.

25.

26.

s & G o Risia @
fpe  orgerm H fEfa  aen
Waﬁwméw
1) Gag-T®

2) Ya-Hisharceh

3) Yai-Hisharch

4) NuenRes-HikarEs

yfaeaelt faenfiEt & oo efeRea
T q B9-G ARE T 7&F @l S
T ?

1) @ qoige & & STaEs

2) @
3) SUHRIAS &
4) T FEHA

frfafag & & SW-a1 qaEsh e
&1 up fosiq 7@ T 7

1) TRl & i

2) T @ fsia

3) fafaear &1 Sis9 79 @1 R¥sia
4) fmm & IR @1 Risid

frfafed & & @M-a1 ader JafwT®
Rreraiell & ogaR Reor & gwelq
T &l ?

1) foeniEl &1 s=1 998

2) JafRTEH AR

3) UIGHH STIHA

4) foaRiat @ e &1 a9
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23.

24.

25.

26.

[9/A]

In which stage of Piaget's Cognitive

Development theory does the

ability of abstract thinking and
generalization develop ?

1) Sensory motor
2) Pre-operational
3) Concrete-operational

4) Formal operational

Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching

4) Enrichment program

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

P.T.O.



[10/A]

21.

28.

29.

30.

fofite  STasgRdel  a@ S= @

CIERC ) M U e B L

eI & qFE & S 7

1) fo 9ewE & faemed & gasr 3

2) g9 g glREd gee S

3) I Ml STETHa B TEAMI
U gAY § Sl &

4) IR HEWH FEEd Yl &
HET

fr=feifeg & @ fF-a1 o9 f9wg &
g ¥ 98t 78 B ?

1) o™ URUFEdr Ud M @
3 B

2) YRR fod &l g | a1 @6l
foepre a1fres iR & B

3) fopa R @ W #t R & o
o B

4) [TFE =G 99 ¥ BR & X
e B

qurash frem # B feia ke
B Sfodea fear @ ?

1) By, W wd Rwnas
2) X g fereeht

3) HEHAT T BAe

4) o], Sfed T g

d gRugEar TN Gl & I8
g fpes & & T R ?

2) W
4) B

1) &9 Sl
3) AR

21.

28.

29,

30.

Which is not a role of educational

institutions in addressing the needs

of children with special need ?

1) Admission to school without
discrimination

2) Provide accessible
infrastructural facilities

3) Identify their special needs

and exclude them from
mainstreaming

4) Provide necessary support
services

Which of the following statement is

not correct in context of

development ?

1) Development is the product of
maturation and learning.

2) Later development is more
critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from

central axis to extremities.

The three dimensional model of
the inclusive education
propounded by whom ?

1) Criffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey 2) Garret

3) Sorenson 4) Hurlock

[ Level-3 /1306 ]



HET—- 11/ PART -1l

A1 (=Y wd Si¥sh) / LANGUAGES (HINDI & ENGLISH)

f&=t (HINDI)
fraer : fefafad gl & SR 39 & e @98 S fasked g

[11/A]

31.

32.

33.

34.

fqQwer & deg & dHi-ar @é gatad

7ET T 7

1) ARG - |5 9 i &L

2) Ui - fAueT @ IawEe

3) UREH - JUrErE Qe

4) Y - G § WHq HEaEs
Ell

forg foecy # =-g &1 TE 7Y AT
78 5 ?

1) SEf - @, 9 - e

2) WY - g, 79 - gEA

3) W - T[«ll, AT - Sl
4) THI - T, g - |

HI-91 H @ 7T © 7
1) g - d 9=
2) HE® - TGHd 9=
3) Ra=dl - IV =
4) VA - fRe™ o=

frefafeg & @ 59 faed &1 9=
wfy-faees # e @ T ® 7

1) FUEE = FI + o6

2) I = aar + ST

3) AMHIN = T + 0

4) TgH = Y + A
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35.

36.

31.

38.

fp faheq & TR W Sl
THE B ISET 78 & °

1) S, faEe
2) dHsard, RS
3) YA, HarE
4) UERR, qgqufa

frg faeq &1 = ‘o ITEd A
T 7&f = ?

1) AN

2) it

3) I

4) IFER

e # 9 e 9w @ 9= foeee
gt | fafa € °
1) edtad, siferEr
2) ST, FHHET
3) Regd@R, ST

4) R, TNl

EaE 9|l ® g9g ¥ -
fereq ofgfaT @ °

1) I=A1 - fEART, gy, wede
2) &S - G, guH, HaT

3) T=A - TNEN, JAge, QU
4) T - FERAICH], ST, YR

P.T.O.
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39.

40.

41.

42.

A 3fte & e faeey & ot 9=
g ?

1) T, @R

2) TG, SR

3) e, stfewn

4) RF, ™

‘TRIHT Tl 7 ARG H SR S’
ST I § @ifed I HA: R

1) SHiFddres Hs qeT Sicaraeh G5l
2) Sliqdres G qo1 Agars ds
3) SAlddrah Gsll T Afkiars ds
4) HEqED G AT Alddreh G5

Fr=1 & & e qerer & ord ' 78

g7

1) T W ) LT BN - SR
BTl

2) Y F BT T A - foFT O™

& Pz T U HT A
3) TH gE UM UMT - THdl &)
LS SUREIT

4) HM ¥ AR a1 - B @
CEREREIl

fpar & dey § orgfad faeed g ¢

1) $H & AER W fbar & ‘Gehis’
T ‘ATHHE A HE AW S B

2) gﬂﬁﬁ@ﬂéﬁﬁiﬁﬂﬁ%ﬁﬁ?ﬁ@?ﬁ
l

3) ‘far @ | o forgamn 21’ S
qrR # IR AT SgE &% o

4) ‘SiEEr, WA TE AT
AT BRa % SRR B

43.

44.

45.

T % G99 § BH-91 FEF FGY

g7

1) YT & OMgN W Ta-MH & B8
9T 2

2) ‘B JA FY  ACREIIEE
TaqM 9=

3) ‘TEYEEE AW & IR WE AW
ST &

4) 9 g4 @ g & 9 A
[ B B aEg B A A R
39 FerEaras 9dm ®ed 2

e faey 4 Rodaeis 3= ommT
T 7

1) T - Jaed

2) T - HEE

3) & - &g

4) M - WA

qT & [T TR 9= & Geyg H

ST T T
1) S & H g | IFRE T & -
31ag

2) fored #ig = 7 & - vy
3) WYE H W dwril AT - FEr

4) N HGoF WM P fow Sk -
R
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Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

[13/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face a greatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3 /1306 ]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

| a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.



[14/A]

53.

54.

55.

56.

Which of the following sentences is

the correct option to express a

probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,AC,B

3) D,C,B,A

4) D,C,A,B

[ Level-3 /1306 ]



HET- I/ PART =1l
qHN AHY / GENERAL STUDIES

[15/A]

RS QdT, diihe STl el 9T S U9 RGBT / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

fraer : fFefafad gl & SR 39 & e @9d S faeed g

Direction : Answer the following questions by selecting the most appropriate option.

6l. A} A o0 RX & a0 W I Raw
AR AU Pe F@E @l ©§, ol

SHS S8 B FH &S E
1) IR-gd 2) qiR=m
3 w 4) ITR-fEH

62. T 9 20 fhHl G & &1 H &
4 u% g # qur S gl W 4| &
froda Rer & 2 992 § @@ @t B,

@ AT ST A9 B A R
1) 10 fHt/"ver
2) 12 f%Hl/g0e
3) 13 fHl/guer
4) 15 fHi/gver

63. 15 axmdl & W F 7 = f=i

64. TH Fe ¥ 35 fquiiE #, A &1 we
9 9 7d W @ B & WM IW q
oF WM W & T C & &N 37 Nl
H O AT HE, A C & @W A H

H-TT B ?
1) odl 2) 10df
3) 1la 4) 12df

[ Level-3 /1306 ]

61.

62.

63.

64.

If A stands on his head with his
face towards North, in which
direction will his left hand point ?
1) North-East 2) West

3) East 4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h

2) 12km/h

3) 13km/h

4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and
English both ?

1) O 2) 3

3) 4 4) 5

In a class of 35 students, A is
placed 7th from the bottom
whereas B is placed 9th from the
top and C is placed exactly
between these two. What is A's
position from C ?

1) 9th 2) 10th

3) llth 4) 12th

P.T.O.



[16/A]

65.

66.

61.

68.

69.

10.

Teh %= e A § 'CEG' &I ‘TSR’
g 'FHJ' &l 'QPO' foran sam &,
T g9 9w " OIKM' @& fen
ST

1) NOP
3) NMK

e EAML @ fhaq a9 a0
ST 9 8 7

2) NOL
4) NML

1) 1 2) 2
3) 3 4) 4

uh Frfa sggs 4 o= &oT ud
& BT B 7:2 8, @ 9
TS A TSl dH W& B

1) 7 2) 8

3) 9 4) 11

fr=ifeiie §er gEel & N 9
ST T
2,3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

9 A ST UF o R a8 gUe H,
T B T 341 0% P I 6 g H
T o Hhal 21 IR QT A B T
Y 2 g9¢ % o0 Eie & I9eq A9
A F T & A C, q@ 99 B N
ST ¥ e HX ST ?

1) 292§ 2) 2% gUe H

3) 3 g H 4) 3% gue §

A fret ffvea Ye & 38 « 15 = 32,
62 % 91 = 7 QT 74 » 81 = 29 &, oI
SH YA H 47433 H AF B -

1) 40 2) 41

3) 38 4) 53
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65.

66.

61.

68.

69.

10.

In a certain code language 'CEG' is
written as "TSR' and 'FHJ' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP 2) NOL

3) NMK 4) NML

How many meaningful words can
be formed with the letter EAML ?
)1 2) 2

3) 8 4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
3) 3hours

2) 2% hours
4) 3 hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 « 33 is:
1) 40
3) 38

2) 41
4) 53



11.

12.

13.

14,

15.

16.

g% 17 fE=R, 2002 @ qFER o,
o 22 RE=R, 2004 @ H=-d1 A
qr ?

1) aar
3) TWER

ABEUNERS
4) HIAR

Ioff 1 SFET T B

Z1A, X2D, V6G, T21], ?
1) R8TM 2) R8N
3) R88P 4) R88M

ge s @ @M ad o 3
fr=fofeg aftmEl & $9-9 39 aw
& T BT B 7

1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU

x-3&, y-3& T 4x+3y =12 &GN
it Brgst & awrEa @ B @
1) 2 &8 2) 2.5 3B

3) 3 e 4) 4 B

98 999 Bl 9@ Fa S, e
15463 ¥ Siig< WX 9T IFT%S 107 §

qoiaan et & S ©
1) 52 2) 55
3) 71 4) 16

Il ® g H fhE oTgu H TR
ST ST fob O 59 bl g e W
ST T 20% 1 AH & 7

1) 1:5 2) 2:5
3) 3:5 4) 4:5
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11.

12.

13.

14.

15.

16.

[17/A]

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday 2) Saturday
3) Monday 4) Tuesday

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM 2) R8IN

3) R88P 4) R88M

In English alphabet, the number of
letters skipped in between
adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?
1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x +3y =12 is:

1) 2unit 2) 2.5 unit

3) 3 unit 4) 4 unit

Find the least number which must
be added to 15463 so that the

resulting number is exactly
divisible by 107 :

1) 52 2) 55

3) 71 4) 16

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5
3) 3:5 4) 4:5

P.T.O.



[18/A]

11.

18.

19.

80.

8l1.

s g R & 4% aifie X W
2 99 % fQ ThdfE &S Ud ER
& & S o

1) 52:51 2) 52:50
3) 51:50 4) 53:50
Zri?A,BeraTc%rZ:i-E ®

2°3'5
U # Tl T T MR AN
fFam 4 W& ueaTq A R STO OSh
50% el fdn A 9 & o= H Fu
21,600 BUY FH TN AT &, A IH
o ¥ q B w fewm R

1) 2,400 9 2) 3,600 BT
3) 4,000 4 4) 4,200 TII

Uh A 20% Y 9 Th &
o B, AR I ARy W 12 vW
e § o=, af 39 10% H ArH
Bl 39 IE] H HT TA ©
1) 22 91 2) 30 W
3) 36 W 4) 40 TR

Ve Ve

a*+a” 1-a
+
1-a 1++/a

a 2) a—

a2 :

—

1)

a—-1

3) a% 8)

—
|
]}

Qfrerfees g g oTafad © ¢

1) e B
2) HEae o A

3) IR P |
4) YT ot J
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11.

18.

19.

80.

8l1.

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51
3) 51:50

2) 52:50
4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7,4.6 After

2°3'5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400
3) Rs. 4,000

4 months, A

2) Rs. 3,600
4) Rs. 4,200

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22 2) Rs. 30
3) Rs. 36 4) Rs. 40
Vo o Ve q1_ .Y
a_+a + 1-a is equal to :
l-a 1++/a
a a-1
I — 2) —
) a-1 ) 2
3 2 g 2
a- l-a

Historical village Sugh is located
in :

1) Ambala district

2) Kurukshetra district

3) Yamunanagar district

4) Panchkula district



82.

83.

84.

85.

86.

e e 9 o, 2023 H A
US[d &l Bee fhar ?

1) €Y o

2) ey s

3) I Rawrs

4) Tifed

g & Fefifed Tsudel § |
P T & T SRR ?

1) it eEdR

2) 4 JIwR g S

3) i &t o= W

4) =t geeia g e

AERI W4 $ deg 9 g ©

1) <9 ¥
3) YT H

2) Parm ¥
4) ead H

Mar Sl GARE fhE W H A
S & 7

1) FHii® |
3) offead H

2) AWM H
4) mEI H
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82.

83.

84.

85.

86.

[19/A]

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia

The evidence of Stupa of Mauryan

period is found at :

1) Topara 2) Bhiwani
3) Thanesar 4) Rohtak
Geeta  Jayanti Samaroh is

celebrated in the month of :
1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana

Who is the Chief Commissioner of
Right to
Commission ?

1) ShriT. C. Gupta

2) Shri Vijay Vardhan
3) Shri Rajesh Khullar
4) Shri Vikas Gupta

Haryana Service

P.T.O.



[20/A]

81. WY Memem & IR § Fefaieg 87. Read the following statements
FIE P TR : about Sadhu Nischal Das :
() & T % farsg 9 (i) He was a Dadu's disciple.
(i) R RKiED FER 9 (ii) He cc')mpll.ed a b90k 'Vichar
FeETT aﬁ, Y gaE & =7 F T zggar which is in form of
ialogue.
Choose the correct code :
yg?a@ I HIOAC 1) Only statement (i) is correct.
1) FAA HI @ S 2) Only statement (ii) is correct.
2) @aq HY (i) TEI B 38) Neither statement (i) nor
3) T A FAT (i) AR 7 & FH (i) statement (ii) are correct.
2| 4) Both the statements (i) and (ii)
4) A F (i) AR (i) T T are correct.
88. eI ¥ RfART ST @E EI'ETV ferq 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) fieR 2) I 1) Pinjore 2) Panipat
3) =N 4) g 3) Jhajjar 4) Bhiwani

89. BETm T Wehrll Y ud aHI 89. When the Haryana State Co-

T 98 o 3 W o9 E?e; ? operative Agriculture and Rural
Development Board Ltd. was
established ?

1) S, 1967 1) January, 1967

2) I, 1966 2) November, 1966

3) T, 1980 3) March, 1980

4) A, 1996 4) January, 1996

90. BRAMT H WRAE e SrEnEn 90. Where in Haryana, the Indian

HEI el Rod & 7 Institute of Information Technology
is located ?

1) dea 1) Sonipat

2) qEIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3 /1306 ]



M- IV / PART - IV
gfrerd / HISTORY
fraer : fefafad gl & SR 39 & e @98 S fasked g

Direction : Answer the following questions by selecting the most appropriate option.

[21/A]

91.

92.

93.

94.

95.

96.

IRd TR 1 fh9 I foma &
foes “olfReM 9’ 9% A
Hrarel & o ?

1) FER 2) THER

3) e 4) T
IS ® “RER” 9= @ Sd [Bd
T gD 7

1) qfest 2) FAF

3) w9 4) %9

=1 & 9 599 9% Faen & a9y
oqr 7

1) HHIER 2) aiegdR

3) BUEM 4) TRHT

Fer 4 | 58 gawe= 99 S
) XX # foxy faamr |ty e ?

1) THo To
2) & wWHAEA
3) IH W™

4) To Ho el

frr & @ f-T1/4Q sfoem o §
TeSHTHS Gl 1 Iaer /8 ?

A. UQIYEh  B. qHUCC
C. ufeq D. f

??’.
1) 3ad A, C 2) &ad A,B,D
3) %da C 4) %99 C,D

et & 4 B s<=iled @ ‘gai
P g & 7
1) ©WE gR_Ew
2) WA TR
3) dare! sEE
4) TN TRGE
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91.

92.

93.

94.

95.

96.

The Government of India had taken
military action called "Operation
Polo" against which Princely State ?
1) Kashmir 2) Hyderabad

3) Junagarh 4) Goa

The English word 'Histroy' has been
derived from which language ?

1) Latin 2) Greek

3) German 4) French

Which of the following was related
to the Manor system ?

1) Feudalism = 2) Mercantilism
3) Printing Press 4) Urbanization

Who among the following was
entrusted with the Finance department
in provisional government by Subhash
Chandra Bose ?

1) S.A.Ayer

2) Laxmi Swaminathan

3) Prem Sahgal

4) A.C. Chatterjee

Which of the following is/are
examples of Illustrations aids in
History Pedagogy ?

A. TextBook B. BlackBoard
C. Model D. Picture
Codes :

1) OnlyA,C 2) OnlyA,B,D
3) OnlyC 4) OnlyC,D

Which of the following settlement
were 'Sunset Law' related to ?

1) Permanent Settlement

2) Mahalwari Settlement

3) Ryotwari Settlement

4) Ijara Settlement

P.T.O.



[22/A]

91.

98.

99.

100.

101.

Fret & @ foes aamr or B “amge
g faRt @1 gfte &7 °

1) TR 2) wE TFRA

3) FMgs  4) AT
= & 59 g9 & 75 el @
S fear ® 7

1) HeEe] 2) fegarH
3) fafeu=l  4) JEEE
1§ 9 hed F9 e & 6 edads

A aecdl EE gadd I d TR
fopar & ?

1) W e
2) TEQST qHIH q9G

3) #YI TEHE W€
4) TEN TEEE a9

?ﬁg}@ﬁ%ﬁﬁﬁaﬁ?—w@aﬁ

Ve

A PRI E GId 9 H AEH A

B HATH HIAE A Ao H - fer
Te

C [ETR 99Ed § SeEd o
famT e

?%Aaﬁ?c
2) %ad BaARC
3) %AAC

4) %ad AIR B

gt%y ?ﬁ q BE-A/4 g Fel ghad
/8 1

A e fhel @ gewe fo e
B Rl TR : Hygen &%

C TE-T-9fRe : NI

Ze
1) A3RB 2) %aqC
3) AdRC 4) FITA
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91.

98.

99.

100.

101.

Who among the following has told
"Complete History is the Histroy of
Ideas" ?

1) Spengler 2) Lord Acton

3) Collingwood 4) Oakeshott

In which of the following texts 75
occupations are mentioned ?

1) Mahavastu 2) Divyavadana
3) Milindpanho 4) Dighnikaya

From which of the following
inscription it is known that
Harshavardhana had defeated the
Vallabhi ruler Dhruvasena Il ?

1) Aihole inscription

2) Banskhera copper plate
inscription

3) Madhuban copper plate
inscription

4) Navsari copper plate
inscription

Which of the following statement

is/are correct ?

A Krishnadev Ray was the ruler
of Suluva dynasty.

B Amukta Malyada was a text
written in Tamil Language.

C Athavane was the revenue
department in Vijayanagara
administration.

Codes:

1) OnlyAandC

2) OnlyBandC

3) OnlyC

4) Only AandB

Which of the following pairs is/are
correctly matched ?

A Aadilabad Fort : Muhammad-
Bin-Tughlag

B  Siri City : Qutubuddin Aibak

C Nahar-i-Bahist : Agra

Codes:
1) AandB 2) OnlyC
3) AandC 4) Only A



102.

103.

104.

105.

106.

RS A “HE” A e
gfer TS ot ?

1) STeideh

2) s =

3) TRl

4) ITH™

%ﬁw%@ﬁ? Q-9 FH G
1)’ 9 TSI i FHI . .
AL Tl
2) |UEG BEA : YRR &9 T
3) @it ToTed o HFA
TR s
4) T USRI I TGE B
ERSHIAGRNES

-1 S8R GE-II & GAfia &g
AR A & A= R W Fe F IwET
A B &y I & AT HioT

-1 qEI-11
A TG i ECEE]
B a9 i FFE
C Ha i HEHrA
D 3IEE iv e
7

A B C D
H @ @) @) @>4v)

2) (@) (@) @v) (i)

3) @) @) (i) (iv)

49 @ @) @G 34v)
Sieied =1 ® | e Tored
oqr ?

1) tREEREE  2) tPegied

3) P 4) IAfeEH

G TSkt 3 1924 § ‘afehd
feqefell @ @ wIOAT F@T @ oA ?

1) =g 2) T
3) AN 4) GgR
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102.

103.

104.

105.

106.

[23/A]

Samudra Gupta adopted
"Kanyopayana" policy towards
whom ?

1) Atvikas

2) Foreign states
3) Republics
4) Uttarapatha

Which of
incorrect ?
1) The obolition of the land grant :
Alauddin Khalji
2) Rotation crops:
Muhammad-Bin-Tughlagq
3) Estimate of Annual Revenue :
Gayasuddin Tughlagq
4) Rejection of Loan ledger
register : Firoz Shah Tughlaq

following pair is

Match the following List-I with List-II
and select the correct answer using
the codes given below the list :

List-I List-II
A Daud i Chandayan
B Kutuban ii  Mrigavati
C Manjhan iii Madhumalti
D Usman iv  Chitrawali
Codes :

A B C D
D @ (@d) @3di) (@v)
2) (@) (@d) (@dv) (i)
3) (i) (@ (i) (@Gv)
4) (i) (i) @) (@v)
Who among the following was the
ambassador of Heliodorus ?
1) Antialcidas 2) Antiyokas
3) Menander 4) Demetrius

Where did Bhimrao Ambedkar
established 'Bahishkrit Hitakarini
Sabha'in 1924 ?
1) Bombay

3) Satara

2) Pune
4) Solapur

P.T.O.



[24/A]

107.

108.

109.

110.

111.

112.

A S O 2 )< B < [ S
IHE erer T o1 ?

1) STREH

2) SHEGAIEA

3) FHeeE I

4) FEREIREE I

P d | e
W”Wﬂﬁv‘mw
1) e

2) FAT

3) SISl
4) IRFRS

e e o |ty w6 feaq aw @
oqr ?

1) 1160 I8

2) 1260 T

3) 1360 a9

4) 1460 ¥

1891 & @i Y HAfAEH o fohe
99 § HH AG B HAE b a8 |

IR A o

U6 & & . &g ?
1) 12 99 2) 14 g9
3) 16 d§ 4) 18 99

fre1 4 9 59 ®09 FEEREn qffd
® UG 9 STHEd oTIad S fhar

T ?
1) aR&E 2) IREY
3) Tl 4) EHEEE

1) B,A,C 2) C,AB
3) AC,B 4) A,B,C
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1017.

108.

109.

110.

111.

112.

Which of the following rulers
introduced a "Solidus" coins ?

1) Augustus

2) Diocletian

3) Constantine |

4) TheodosiusII

Who among  the following
introduced "Ostracism rule" in
Greece ?
1) Solan

2) Cleisthenes
3) Themistocles
4) Pericles

How many years was the Sothic
cycle in Egyptian civilization ?

1) 1160 years

2) 1260 years

3) 1360 years

4) 1460 years

The marriage of girls below how
many years of age was banned in
the Age of Consent Act of 1891 ?

1) 12 years 2) l4years

3) 16 years 4) 18 years

Which of the following resolution of
the Congress working committee
had stopped the Non-cooperation
Movement ?
1) Bardoli

3) Calcutta

2) Gorakhpur
4) Ahmedabad

Arrange the following in correct
chronological order and select the
correct answer from the codes
given below :

A Sadler Commission

B Hartog Commission

C Sargent Commission

Codes:
1) B,AC 2) C,A,B
3) A,C,B 4) A,B,C



113. f=fciaa o=t & 9 d9-a1/8 g&f

114.

115.

116.

1117.

118.

/87
A THE % 949 24000 9T o

B & e oifed # X H I
forerar &1

C WTEHN & HIEN Uewgs &
TR 9SMEA & Y% qiid § 88

T |

?_c":
1) %ad A 2) A 3JXB
3) @ad C 4) AdRC

JIae § SaE R aes e A
q 8 I & fow oites 9 7

1) TR 2) A
3) I 4) S

= H 9 58 TS § T B
el B -HYE Jared § 7

IR I CRUC IS L N B G G
S fHer & 7
2) T

1) Fag
3) HHas 4) AYGaT

=1 d 8 @l & e SugE
HA- & ? ki
1) &+ 2) a%]

3) R 4) AYEd

1 § § o9 e® | s@afa @l
Sfar o ?
1) ffEER
3) fgEm

2) ST
4) FAND
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113.

114.

115.

116.

1117.

118.

[25/A]

Which of the following statements

is/are correct ?

A Samaaharta's salary was 24000
Panas.

B The tax 1is mentioned in
Rummindei Inscription.

C According to Megasthenes,
each committee of the City
Administration of Pataliputra
had six members.

Codes:
1) Only A 2) AandB
3) OnlyC 4) AandC

Bayana and Sarkhej was famous for
which of the following production
during Mughal Period ?

1) Tobacco 2) Cotton

3) Sugarcane 4) Indigo

In which of the following states is
the Teri-group of Mesolithic sites
located ?

1) Madhya Pradesh

2) Gujarat
3) Tamil Nadu
4) Karnataka

"Nasadiya Sukta" is mentioned in
which of the following Vedas ?
1) Rigveda 2) Yajurveda

3) Samaveda 4) Atharvaveda

Which of the following land is
suitable for Farming ?

1) Kshetra 2) Vastu
3) Sila 4) Aprahat
Which of the following rulers

conquered Avanti ?
1) Bimbisara 2) Ajatshatru

3) Shishunaga 4) Kalashoka
P.T.O.
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122.

123.

-1 &R GE-II & gafia &g
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Y B Fe7 I TAT HiT
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A B C D

1) @) (@Gv) (i) (i)

2) (iv) @i (i) @)

3) @) (iv) (i) (ii)
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M= 9 e Chdar-u-Seier’ 3
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1) EEE-3a-Rs
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“3I3agy T U9 T o ?

1) o= J9%
2) AR A8&
3) HMEG TIEHT
4) %o o B

et & | &-d1 38 & g6 ant @l

o o ?
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1) °m@y e

2) o GH

3) TEA FAR

4) AU
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119.

120.

121.

122.

123.

Match the following List-I with List-II
and select the correct answer using
the codes given below the list :
List-I List-II
A Hemchandra i Parishishta Parva
B Jinsena ii ~ AadiPurana
C Udhotan Suri iii
D Haribhadra Suri iv
Codes :
A B C D

D @ @iv) @) (i)
2) (v) (@) (@) @)
3) (@) @(iv) (@{11) (i)
4 (@) i) @) (@Gv)

Which of the following was wrote
"Fatwa-i-Jahandari" ?

1) Minhaj-us-Siraj

2) Hasan Nizami

3) Ziauddin Barani

4) Shams Siraj Afif

Kuvalayamala

Samraditya-katha

Who among the following had
presented "the objective resolution"
in the constituent assembly ?

1) Rajendra Prasad

2) Jawaharlal Nehru
3) Bhimrao Ambedkar
4) K.T.Shah

Which of the following was the
language of the Inca people of
Peru?

1) CUZCO 2) Calmecac

3) Tepochcalli 4) Quechua

Who among the following was not
sentenced to death in the Delhi
Conspiracy case of 1912 ?

1) Awadh Bihari

2) Bal Mukund

3) Basant Kumar

4) Balraj
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125.

126.

1217.

128.

129.

Frr 4 @ feee 1897 3o # el
a@ﬂ%wqﬁaﬁmﬁm
o

1) IET A A
2) 3Ro Hlo Tq
3) MU FT e
4) T ARG T

Fret & | foem &9 & “Hll el &t
& e fhar or ?

1) =T FE 9B

2) WA g

3) AT

4) e

frvr § 9 29 Y9l 9w 9
T 87 ar ?

1)
2) m (i)

3) YA

4) THRMEE

“TEa-IA-STEqIh” 9% Ul T
SRS T foRam e ?

1) Hiewe gha

2) Y 49T oTeWE ©f

3) AT TG

4) o1 W HiEd 39

= # 9 fh9 @Y & WO W €Y
b TTRG T AN B FAreEdr
Wi HY @l O 7

1) geT-3g-arl

2) SEEH-Ig-arT

3) WG 3Tl @M II

4) I ol

Fre1 4 @ aF-a g afx 78 & ?

1) HAMTE AR
2) e Hivax
3) FHum Hfex

4) g A<
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Who among the  following
presented the report before the
Welby Commission in 1897 ?

1) Dadabhai Naoroji

2) R.C.Dutta

3) Gopal Krishna Gohkale

4) Lala Lajpat Rai

Who among the following formed
"The Blue Shirt Party" in China ?

1) Chiang Kai Shek

2) Mao-Tse-Tung

3) Sunyat Sen

4) Chuteh

Which of the following was not related
to Mesopotamian civilization ?

1) Ziggurat

2) Cuneiform

3) Akhnatan

4) Amorite

Who published the
"Tehzeeb-ul-Akhlaq" ?
1) Mohammad Igbal
2) Sir Sayed Ahmad Khan
3) Maulana Azad

4) Raja Ram Mohan Roy

Which of the following Nawab of
Awadh had accepted the
supremacy of the British over
Banaras by making a treaty ?

1) Shuja-ud-Daula

2) Asaf-ud-Daula

3) Saadat-Ali KhanII

4) Wajid Ali Shah

magazine

Which of the following is not a Sun
Temple ?

1) Martand Temple

2) Modhera Temple

3) Konark Temple

4) Kiradu Temple

P.T.O.
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131.

132.
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134.
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2) fadg S @ify

3) A s
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/

A FPRARC : G0 Fiex

B SIOYEY AR : Frelfean

C dgT : BRI ACh

?)EF%A 2) A JXB
3) %A C 4) AARC

THEM, e, @ iR Ak}
e 1 ® 9 fopae awfee & 7

1) FHUST

2) &

3) 9 % Fad
4) H

Fr=t & & S9-a1/8 39 g8 gk
B/R 7

A Pl TG

B WY TN & @ 39X

C IR TR EIEDEY
ZT -

1) %9d B 2) FATASMC
3) IAWC 4) A,B3RC
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130.

131.

132.

133.

134.

During the reign of which of the
following Sultans, the Caliph of
Baghdad recognized the
independent status of Delhi
Sultanate ?

1) Qutubuddin Aibak

2) Itutmish

3) Alauddin Khalji

4) Firoz Shah Tughlaq

In which  Buddhist
'Kathavatthu' was compiled ?
1) The first Buddhist Council

2) The second Buddhist Council
3) The third Buddhist Council

4) The fourth Buddhist Council

Council

Which of the following pairs is/are
correctly matched ?

A Angkorwat : Vishnu Temple

B Borobudur Temple : Cambodia
C Vayung : Shadow Play

Codes:

1) Only A 2) AandB

3) OnlyC 4) AandC
Jafarkhani, Jahangiri, Khasa and

Choutar etc. belonged to which of
the following ?

1) Clothes

2) Perfume

3) Copper utensils

4) Paper
Which of the following pairs is/are
correctly matched ?
A Koil Aligarh
B Bais Khwaja ki

Chaukhat: Ajmer
C Camp City Bernier
Codes:
1) OnlyB 2) OnlyAandC

3) OnlyC 4) A,BandC
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4) 9 : fafy diear

-~
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Who among the following sent the
third expedition to Kandhar by
Shahjahan ?

1) Dara 2) Murad

3) Aurangzeb 4) Shuja

When was the Meiji Constitution
introduced in Japan ?

1) 1868 2) 1872
3) 1881 4) 1889
Who among the  following

composed "Don-Quixote" ?
1) Martin Luther 2) Dante
3) Chaucer 4) Cervantes

With which of the
countries did Vietnam
between 1946 to 1954 ?

1) France 2) Japan

3) America 4) England

Who among the following was the
originator of the biographical
method in history ?

1) Karl Marx 2) Carlyle

3) E.H.Car 4) Stanley Hall

Zeenat Mahal was associated with
which of the following in the Revolt
of 1857 ?

1) Delhi 2) Lucknow

3) Kanpur 4) Faizabad

The report of the Hides Cess
Inquiry Committee presented in
1930 was related to which Industry ?
1) Sugar Industry

2) Iron and Steel Industry

3) Cotton Textile Industry

4) Leather Industry

Which of the following pairs is
incompatible ?

following
fight

1) Tumen : Unit of ten thousand
soldier

2) Yama : Commander

3) Quriltai : An Assembly

4) Yasa : Code of Law

P.T.O.
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143.

144.

145.

146.

141.

148.

149.
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Who among  the following
contributed to the composition of
"Tij Muhammad Shahi" ?

1) Shah AlamII

2) Safdarjung

3) Surajmal

4) Sawai Jai Singh

Where among the following was the
Dargah of Shah Mohammad Ghaus
located ?

1) Mandu

3) Gulbarga

2) Burhanpur
4) Gwalior

Which of the following dynasties
was related to Sapadalaksha ?

1) Pratihara 2) Chauhan

3) Parmar 4) Rashtrakuta

Which of the following Chola rulers,
details of Rural Administration are
founded in the  Uttaramarur
inscription ?

1) Vijayalaya 2) Parantaka-I
3) Rajendra-I 4) Rajaraja-I

In which of the following year was
the Coronation Ceremony of Shivaji
held ?

1) 1670 2) 1672

3) 1674 4) 1676

Poet Rajshekhar was in the court of
which dynasty ?

1) Palas 2) Pratiharas

3) Rashtrakutas 4) Tomar

Which of the following site, "The
Cemetery R-37" was found ?

1) Harappa 2) Mohenjodaro
3) Dholavira 4) Kalibanga

Who among the following is the
author of 'Raas Panchadhyayi' ?
1) Surdas 2) Raskhan

3) NandDas 4) Kumbhandas
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nature.

sﬁ’ﬁ‘rﬁm/mﬁﬁ UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SERer % _fow, orelt Rerfem & & T sien/Rer-FRw @ 98 & @i et @ B @ R am w0 ol e &
ol T W O S & e w e & FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Eﬁlg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

ThE T BN W, ol e /2TA Bie @ Jd IR U he-TdaEd d ofasd A 31 oned o | 39 UsH-gRad @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.



	1306-A.pdf
	ROUGH WORK-2.pdf
	1306-A_1-30.pdf
	1306-A_31-45.pdf
	1306-A_46-60.pdf
	1306-A_61-90.pdf
	1306-A_91-150.pdf
	ROUGH WORK-1.pdf
	BACK_COVER.pdf

